



W.BIERMANN, 2/99

Wenn du die Felder mit den richtigen Ergebnissen sorgfältig ausmalst, erhältst du eine Figur.

$$3 \ 4 \ 5 \ 6 : 2 \ 4 = \square \square \square$$

$$9 \ 9 \ 8 \ 8 : 4 \ 4 = \square \square \square$$

$$3 \ 4 \ 5 \ 6 : 1 \ 8 = \square \square \square$$

$$5 \ 0 \ 4 \ 4 : 2 \ 6 = \square \square \square$$

$$3 \ 4 \ 5 \ 6 : 7 \ 2 = \square \square$$

$$5 \ 0 \ 4 \ 4 : 1 \ 3 = \square \square \square$$

$$3 \ 4 \ 5 \ 6 : 5 \ 4 = \square \square$$

$$5 \ 0 \ 4 \ 4 : 5 \ 2 = \square \square$$

$$3 \ 4 \ 4 \ 4 : 1 \ 2 = \square \square \square$$

$$1 \ 2 \ 3 \ 4 \ 5 : 1 \ 5 = \square \square \square$$

$$3 \ 4 \ 4 \ 4 : 1 \ 4 = \square \square \square$$

$$1 \ 0 \ 6 \ 6 \ 4 : 3 \ 1 = \square \square \square$$

$$3 \ 4 \ 4 \ 4 : 2 \ 1 = \square \square \square$$

$$1 \ 0 \ 6 \ 6 \ 4 : 6 \ 2 = \square \square \square$$

$$3 \ 4 \ 4 \ 4 : 2 \ 8 = \square \square \square$$

$$1 \ 0 \ 6 \ 6 \ 4 : 8 \ 6 = \square \square \square$$

$$3 \ 4 \ 4 \ 4 : 4 \ 1 = \square \square$$

$$9 \ 9 \ 8 \ 8 : 2 \ 2 = \square \square \square$$

$$3 \ 4 \ 4 \ 4 : 4 \ 2 = \square \square$$

$$1 \ 0 \ 2 \ 5 : 4 \ 1 = \square \square$$

$$8 \ 7 \ 6 \ 6 : 1 \ 8 = \square \square \square$$

$$8 \ 0 \ 2 \ 2 : 1 \ 4 = \square \square \square$$

$$9 \ 9 \ 8 \ 8 : 1 \ 1 = \square \square \square$$

$$8 \ 0 \ 2 \ 2 : 2 \ 1 = \square \square \square$$



$$3\ 4\ 5\ 6 : 2\ 4 = 1\ 4\ 4$$

$$3\ 4\ 5\ 6 : 1\ 8 = 1\ 9\ 2$$

$$3\ 4\ 5\ 6 : 7\ 2 = 4\ 8$$

$$3\ 4\ 5\ 6 : 5\ 4 = 6\ 4$$

$$3\ 4\ 4\ 4 : 1\ 2 = 2\ 8\ 7$$

$$3\ 4\ 4\ 4 : 1\ 4 = 2\ 4\ 6$$

$$3\ 4\ 4\ 4 : 2\ 1 = 1\ 6\ 4$$

$$3\ 4\ 4\ 4 : 2\ 8 = 1\ 2\ 3$$

$$3\ 4\ 4\ 4 : 4\ 1 = 8\ 4$$

$$3\ 4\ 4\ 4 : 4\ 2 = 8\ 2$$

$$8\ 7\ 6\ 6 : 1\ 8 = 4\ 8\ 7$$

$$9\ 9\ 8\ 8 : 1\ 1 = 9\ 0\ 8$$

$$9\ 9\ 8\ 8 : 4\ 4 = 2\ 2\ 7$$

$$5\ 0\ 4\ 4 : 2\ 6 = 1\ 9\ 4$$

$$5\ 0\ 4\ 4 : 1\ 3 = 3\ 8\ 8$$

$$5\ 0\ 4\ 4 : 5\ 2 = 9\ 7$$

$$1\ 2\ 3\ 4\ 5 : 1\ 5 = 8\ 2\ 3$$

$$1\ 0\ 6\ 6\ 4 : 3\ 1 = 3\ 4\ 4$$

$$1\ 0\ 6\ 6\ 4 : 6\ 2 = 1\ 7\ 2$$

$$1\ 0\ 6\ 6\ 4 : 8\ 6 = 1\ 2\ 4$$

$$9\ 9\ 8\ 8 : 2\ 2 = 4\ 5\ 4$$

$$1\ 0\ 2\ 5 : 4\ 1 = 2\ 5$$

$$8\ 0\ 2\ 2 : 1\ 4 = 5\ 7\ 3$$

$$8\ 0\ 2\ 2 : 2\ 1 = 3\ 8\ 2$$